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ECONOMICS

JrelvE
(318)

Time : 3 Hours | [ Maximum Mark

W:Cﬁquél

Note : (i) This question paper consists of 50 questions in all.
(i) Al questions are compulsory.

(iii Marks are given against each question.
(iv) Section—A consists of
(@) Question Nos. 1 to 20—Multiple C
carrying I mark each. Select and write ost appropriate option
out of the four options given in of se questions. An internal

choice has been provided in s o se questions. You have to
attempt only one of the giv in such questions.

e Questions (MCQs)

(b) Question Nos. 21 to 35 je -type Questions carrying 2 marks
each (with 2 sub-part each). Attempt these questions as
per the instruction or each of the questions.

(v) Section—B consists

(a) Question Nos!
2 marks each

—Very Short Answer-type Questions carrying
nswered in the range of 30 to 50 words.

(b) Questi s. 43 to 48—Short Answer-type Questions carrying
4 m e to be answered in the range of 50 to 80 words.
(0 Q Nos. 49 and 50—Long Answer-type Questions carrying

arksieach to be answered in the range of 80 to 120 words.

I %1 50 T 2|
At 2l
U % HWEA 36 30 2
WUE— | INHe ¢

(%) T TG 1 ¥ 20 dh Tg-Tahedia To7 2| Teieh T9H 1 1 37k 2| fou mu faehedi
T o 998 IUYH (dehed i FAR for@| 8 o H Aaies fased feon m #;
I TH Tl # feu U fashedi T O had Th A B B

(@) Y §& 21 ¥ 35 d% IEWE Y &l TAh b 2 Ik 3 (1 3% 9
2 I-urn a@fEd)| ey FTER g 7 B
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(v) Tue—a u ot g
() I GEIT 36 W 42 T Ifd AL-Iq0T I B YAF Y H 2 b | TIh
% IW 30 § 50 w=di H &)
(@) Y G&T 43 § 48 Th TH-ITIT T | T T &b 4 3 T
50 ¥ 80 WGl H ¢
(M) Y &I 49 T 50 G-I T B TS TN F 6 b 2
80 ¥ 120 Wi # T

((1) Answers of all questions are to be given in the Answer-
oft gl F IR IR § T SW-Yfrwt § & ford|

(2) 15 minutes time has been allotted to read this quest
paper will be distributed at 2:15 p.m. From 2;

students will read the question paper only and
the Answer-Book during this period.

3 YH-UF hl Ued & fu 15 e =1 999
2:15 &9 fopam @M QUel 2:15 s § 2:
T @Y % GRHE 9 IW-JEeh T HIE

er. The question
. 2:30 p.m., the
rite any answer on

. y,
1. Which of the following i acteristic of arithmetic mean? 1
(A) It is easy to calculat
(B) It is not affected, by ex e items
(C) It cannot be Nﬁd in the open-ended frequency distribution
(D) All values 4 e series are used in its calculation
frefafaa & ' e ht fodiwar @ 27
(A) ah e 2
(B) 1 & ywifea T E
(C ot R et faawer & saeht o & S wehdt
Feher forfiet & @t el W snuTia & ?
alue that is repeated the highest number of times in a series is called
median (B) mode
(C) mean (D) None of the above 1
98 4o, Eeh sfaen o ge@ fuss omgfd Bt 8, 3§ w1 wEd 27
(A) TTfEERT (B) &t
(C) IR mTe (D) 39k H | His T8
318/TUS/110A RNV EREm
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3. Upward shift of production possibility curve shows

(A) better utilisation of resources (B) growth of resources
(C) fuller utilisation of resources (D) None of the above
ITET GWTSHT 936 b1 HW i AR Radeh1 gunian @
(A) HETEHT T dgaT ITAT (B) wameHl § Tafg
(C) weedi 1 qU IWM (D) 3W® H & HIg T
Or [/ 37ar
As we move to the right on a production possibility ¢ , marginal
rate of transformation
(A) increases (B) decreases
(C) remains constant (D) fir ses then decreases

JY-IAY BH IcdTeT HYTEHT I W iR IR I B, T T

(A) wedt & ( 2

(C) TR Tt 2 0 Fedt @ fR et 2
4. Economic problems are faced

(A) only poor economies (B) developing economies

(C) all economies

nffer FHENST T FHAT
(A) Had TS 37
(C) =t =

(D) small economies 1

gl

(B) fapmasiier srefeyawenst =
(D) B AT i

&l

5. Which of lowing statements about demand is correct? 1

kg of apples.

(A) R
B) _R hased 2 kg of apples last week.

rchased 2 kg of apples at a price of ¥ 10 per kg.
week Ram purchased 2 kg of apples at a price of ¥ 10 per kg.

T H M F TR A HH-T1 HUT TE B7

) T\ & 1 fopo o Tw =fEm

(B) W 7 fusal @are 2 fho o Tw @G|

(C) T® 3 & 10 ufd foho w0 Shma ® 2 foho o T§ wWle|

(D) T« @aE T 4 & 10 ufa foro Wo himd W 2 fero Wo ¥ @l
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6. Movement along a demand curve results due to
(A) change in income of its buyer
(B) change in price of the commodity

(C) change in price of substitute goods
(D) All of the above

AT T W HAH I BRI

(A) 3H% hal i HT § uREdd @ o
(B) == 1 Hww # wRada 2 4...}

() SR wegall 6 i § o 3 ""‘ib

(D) 3o =t

7. On a straight-line demand curve, elasticity

(A) zero (
(C) less than 1

T it @ A Wi a9 % ne-foeg wE

e f its mid-point is
greatér than 1
lto1l 1

(A) I B B ) 1 & I it 2
(C) 1 ¥ %7 B 2 (D) 1 % s’ gt 7
8. Which of the following i&@ 1
(A) National Inco (B) Wealth
(C) Money sup "\ (D) All of the above
frefafaa & & 27
(a) T (B) @
(©) (D) 3w &
Or | 37%ar

f the following is a factor income?

onus (B) Wages
Gifts (D) Both (A) and (B)
Frfafea & § -8 9199 3™ 87

(A) SE (B) =gl
(C) 3R (D) (A) 3R (B) g

318/TUS/110A AT
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9. In an economy, which of the following is consuming sector?
(A) Household (B) Firm
(C) Rest of the world (D) All of the above

1
s deyawer H, frfeRad o @ wH-wr Iuw 8 87 9
(A) 9NER (B) wd

() 3w faea (D) swdw @l o

Or | 3FYdr

Which of the following is called marginal propensity nsume?
C AC

B 3 B)

AY
© o (6
frfefga & @ 50 dama sudm-waf e

C AC
B 3 NG

AY AC
€ Jc go: D) <~
10. Which of the followifig affects propensity to consume? 1
(A) Rate of inte‘ (B) Wealth

(C) Distributi income (D) All of the above

frafafea g T FT G AT B ?
(A) <t (B) |t
(¢ (D) 3w @t
Or | 37¥ar
ich of the following is a correct measure of average propensity to save?
IS ® o
(C) % (D) None of the above
318/TUS/110A 7 NIRRT e.r.o.
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frefefad & @ wH-u1 sied sud-vaf 6 @dt 7w 27

o = B o
© = (D) v G @ wE

11. A movement to the right on a production possibility curve sho e

(A) better utilisation of resources

(B) underutilisation of resources ‘\

(C) fall in marginal rate of transformation

(D) arise in marginal rate of transformation 1
T IAGT GUIEAT a5 WX S 3R SIAT gl B

(A) TEEET T SER SYFNT 0
(B) HETEHT T 3Heq-3UINT 0

(C) ®UM@r 6 HH=T g HT T

(D) uiaw i S @ H WQ
12. Market demand of a co 1S affected by

(B) number of its buyers

(A) price of good

(C) distribution o § and wealth (D) All of the above 1
T T H 3‘7& Bt B
(A) =g o (B) &% shalsli =l T& ¥

faaor =

(©) (D) 3ww =ft

Or [/ 374l
iC the following is an assumption of law of demand?
ice of other goods change (B) Income of the buyers does not change
Tastes of buyers change (D) Preferences of buyers change

Oﬁmﬁ‘r\@aﬁﬁﬁq—muﬁ%mﬁwé?
(A) I TEq3 hl HHd Seod @ (B) Sheaiall o I & geAdt 8
(C) sharsti 1 wfeai weerd) 8 (D) sharadl sl wfiesard weerd) @

318/TUS/110A 8 AT
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13.

14.

A movement along a demand curve takes place when

(A) income of its buyers change (B) price of the commodity changes

(C) number of its buyers change (D) tastes of its consumers change

Teh WA 96 W HAGH d9 Bl 8, 59 6
(A) TE% HA3 hI A T 8 (B)aaaﬁaﬁnaa’aﬁ?ﬁ%

(C) 3@ el i Tl Seord! & (D)sa%amaﬁaﬁ

Or /| 37Yar

\mversely

astic

When price of a commodity and total expenditure
related, then the demand for that commodity is

(A) inelastic (B) more
(C) less than unit elastic (D) havi

IE Th 9% hl A N 3@ W fpy I A
1 |

(A) Sefrer grft g ifss deer geft
(C) 38 ¥ HH or=eR arft I e areft geft

wag‘t,a%waa

Which of the following i
(A) Giffen goods

(C) Necessities

&}

ion of law of demand? 1
(B) Status symbol goods
(D) All of the above

frafafega 4 @ frm &1 e 87

(A) e (B) wfdsrEs a%g

(C) (D) 37w wt
Or | 379ar

the following will cause a rightward shift of demand curve?
ise in income of its buyer (B) Fall in price of the good

Fall in price of substitute good (D) None of the above

f=faflea § @ forgss R gin 9% o€ 3K Rggeswar 27

(A) 9% shal I 3 H Jfg (B) a& i $Hma § it
(C) wfeeemod &g <t higa § wH (D) 3IWdh H | HI T8
318/TUS/110A 9 NG e.r.o.
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15. Which of the following is not a fixed cost?
(A) Purchase of raw meterial (B) Excise duty

(C) Transport charges (D) All of the above

frafafiga 4 @ -6 @R e =& 22
(A) = A BT HA (B) 3cIGT ek
(C) ufest = (D) ITgw @l

Or /| 374l &

Average variable cost curve is

(A) parallel to OX-axis vto OY-axis
(C) negatively sloped ( U-shaped

3a giEd Ara 5k
(A) OX-31a % THFR BT &
(C) HUITCHS @AM aTell il %
16. Average cost rises
A

‘{a

) OY-3& & THHIRR Bl 8

(D) U-3T$R &1 Bl 8

(A) marginal

(B) variable cost
(C) margi is greater than average cost
(D) efixed cost rises 1

9 Fedl 8, 99

A Sedl @
O(B) aftardt o Sed @
(C) o, 3fEa amd @ e gt @
(D) 3itga fer «mma sedt @

318/TUS/110A [V
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Or /| 37yar

Which of the following is the definition of supply of a commodity?

(B) Quantity of a commodity that a firm wants to sell at a given pric a

(A) Quantity of a commodity that a firm wants to sell

(C) Quantity of a commodity that a firm wants to sell during a given

(D) Quantity of a commodity that a seller is willing to sell at a

during a given period

e 1 Imafd i R frefafaa 8 @ wa-E 27 \

(A) o] I T8 HEN, S TH HH =1 SR 8

(B) a%g %! 98 HEAT, S T ®H & g3 HWd W S=q1

(C) =& <l 98 HET, S T ®H UHh qauIEry o

(D) 9%g 1 98 HEI, S Th BH o g5 HAA W ¥ 0 S=q1 TEdl 8
17. Which of the following is not a calise hift in supply curve to the

right?

(A) Increase in excise duty

(B) Fall in prices of inpu

(C) Use of better techno 1 oduction
(D) Fall in the pri f other'related goods
it w% e Tl Hh ETARgd § & hia-91 T8 37

(A) ScaTed e
(B) 3Tl
(€)

FH B
qehleh Rl TN
= S%qaT i hma # firree

of the following factors affects the elasticity of supply of a
modity? 1

(A)

(B) Cost of production of additional unit of a good

Nature of the good

(C) Time period
(D) All of the above

318/TUS/110A 11 IR ce-ro.
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fafafas & @ - s 9 F qfd H T F1 Tl Fwar R?

(A) g W TP
(B) =& i AfRh IHhE h I AR

(C) w=g Irafa a
(D) 3w |+t 0
‘ int

19. A supply curve is parallel to OX-axis. The elasticity of su

on it is
(A) infinity (B) less th
(C) zero (D) morg, than 1

OX-318 % MR T qfd a5h &l Heh fohdll T
(A) 3= gt B) 1
(©) ¥ zrh

il

i grft
20. Equilibrium price is the price a i
(A) firms get maximum profi
(B) buyers buy maximu

(C) demand and supply od are equal

(D) maximum nu of firms exists in the market 1
WW%&MW
(A) o 1 afrerad @ ITH Bl 8

¥ T B B

FAR gfd s B @

ot B ge s A @

(B)
(C)

the blanks with appropriate word : 2

Index number measures changes.
( relative, absolute )

(b) In a weighted index number, weights are assigned to items in
the series.
(all, selected )

318/TUS/110A AT
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b Tl 1 30y wsg @ WRT -
(%) g _____ 9REdd Jm9dr gl

( |mer, frue )

(@) ik qE B gEen § _ wd W ww R ww R e
( |l

22. Fill in the blanks with appropriate word(s) : 2

(a) The measure of dispersion that is most influenced called
the range.

( extreme wa low values )

WSed, not based )
foeh Tl b1 Iugh wse (Weqi) W OWRT

(%) st (femem) Y o, st Bl 2 39 fomar wed )

(= g ¥, B9 gl 9§ )
(@) wiferehr foawor & @t goui Q«i%|
( 3maTiE, STETia & )

23. Fill in the blanks

(b) Median is on all the values of a distr

riate word(s) : 2

appr

(a) When the an a commodity is
rectangul rbola.

( inelastic, unit elastic )
(b) A llw)rice of good X results in a fall in demand of good Y.
re .

( substitute goods, complementary goods )

, then its demand curve is

1 I9GH WG (Ieq)) § WRT

) V& TH a&] H A g, < 351 AT 96 FAFAHR SAfdREed gl 2|
( IAEER, 3h1E b SR g dTelt )

(@) X @& i $Hd &0 84 W, Y g% I A HA & S} X 3R Y 2l

( fcemE aEqe, [ Sy )

318/TUS/110A 13 IR ce-r.o.
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24. State whether the following statements are True or False : 2

(a) Demand curve of a good shifts to the right when the price of the good
falls.

(b) When a fall in the price of a goods results in fall in total expendit
on it, then its elasticity of demand is less than one.

warge T Frafefea wum & § a0 o -
(%) Teh I&] HT WO b ¢ IR Redehd1 & Ja Igehl Himd =l 2|

(@) J& T a%] H hHd HT BH W W W FFA IH e o
@ 3| a%g I AT HI A= TH Y HA B B

%7

25. State whether the following statements are True

nt of OY-axis.
Gb comes constant and
Farge fob fafefea wem ot & an e
(%) Fof @A Tk 3N FA fRR g WU & fag ¥ gE B 2

(@) V& Hg= «rE, 3fEd ED STt B, @ 37Ed @ fRR 3R =Ean
B St 2l

(a) TC curve and TFC curve start from th

(b) When MC becomes equal to AC, th
minimum.

26. Fill in the blanks

(a) If two sup
ata ____ €

ppro riate word(s) : 2

tersect each other, then the elasticity of supply
curve is more.
( steeper, flatter )

(b) When
t it

of the commodity rises without a change in its price,
called

( expansion of supply, increase in supply )

1 I9gH WG (eqh) § WRT :

& ufd o TH-gE B kA €, Al ufd as W gfd i ol s el
( AfUF TAH 9T, HH AW AT )

(@) v& foredt a%g 6t $ma § afedd gu o soh ofd se ot 2, @ 39
%Ed 2l
(4fd 1 fo=wr, gfd & I )

318/TUS/110A AT
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27.

Or /| 37yar
Categorize the following statements into True and False :

(a) Supply curve of a commodity can never be negatively sloped.

(b) Expansion of supply means a rightward shift of supply curve.

frforfiaa Feri 91 Od 3R T § afiga HIRAC -

() @mmﬁ%@ﬁﬁﬁmmﬁﬁ@ml
(@) gfd % fomam *1 312f 2 qfd o6 @1 o SR Rewer|
Fill in the blanks with appropriate word : & 2

V( revenue, capital )

( revenue, capital )

(a) Expenditure on defence is __ expenditur

(b) Repayment of loans is ___ expendit

(%) AR IJ _____ = 2l :
(T, gofia )
(@) = Iere

(T, e )

T Tl H I9gH weg ¥ WRT ¢

Or |/ 3Ydr

Fill in the bl ith appropriate word(s) :

(a) Bank is determined by .
( Central Bank, Commercial Bank )
RR reduces the credit creation capacity of banks.

( Increase, Decrease )
[ %I IW® W5 () ¥ 9T :
0 _ gw fifa Sl )

(s %, AT o )
(@) Juifaes ST U o Sl I G- &mar & 'er et 2l
(g, = )

318/TUS/110A 15 [N ce-r.o.
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28. State whether the following statements are True or False : 2

(a) Fiscal deficit equals total budgeted expenditure less total budgeted
receipts.

(b) Primary deficit equals revenue deficit in interest payments.

garsy fo ffafea wem @& € an o

(%) T I9T & IR P ST WA T A=W ThIYT G172l
(@) TSTEd =11 3 IS WA 1 3= TUfeh a1el haeldl gl \

Or /| 37yar

Classify the following statements into True or Fa
(a) Commercial banks are controlled by the gov .

(b) An increase in bank rate reduces mo u

FfIRad el S T 3R T H afiha
(%) =i S @R g e S, 2
(@) s T s ¥ qII A =

29. State whether the followi nts are True or False : 2

(a) Difference between Na Income and Domestic Income is called

factor income abroad.
(b) National I& sum of factor incomes and non-factor incomes.
Farse T e 2 A1 e

A H IR s ¥ wed A HEA Bl
Y A IR -G8 ™ w1 G Bl 2l

()

(g

Or [/ 37Yar

ill in the blanks with appropriate word :
) Expenditure on purchase of furniture by household is

expenditure.

( consumption, investment )

(b) Taxes are payments.
( factor, transfer )

318/TUS/110A 16 [V
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b Tl 1 30y wsg @ WRT -

(%) Th NER g BT R fopan o == = HEAl 2l
(wﬂn,ﬁém)e

(@) H _____ maE &

(&Y,

30. Write for each of the following whether it is included or not incl @ the
calculation of National Income : 2
(a) Purchase of sewing machine by a household
(b) Sale of old newspapers
frefafed @ @ g% % IR 4 ¥g fofew % 38wl fepern ST ® A
e TR Smam 2
(%) THh IER g foerms i weie wlien
(@) WA @aRi *1 fosha
State whether the followin are True or False :

(a) Salary by a foreign 1 n India is treated as factor income to
abroad.
(b) Salary of an working in a branch of Foreign Bank in India is
a part of d sti come.
ECIEUAES g g A1 T
(%) WRA faesft o1 a7 foemi 1 wem 3w # wfier o Smar R
(@) fogslt o i IMET H HRRG T WA % oad I IRA hl Tl 3T
ST
the blanks with appropriate word(s) : 2
Whether a good is a final good or an intermediate good depends on
its .
( quality, use )
(b) Value added = Value of output —
( Depreciation, Intermediate consumption expenditure )
318/TUS/110A 17 NG e.r.o.
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b UMl 1 Iugh e (W) @ wiw
(%) HIs g AT AT AAdT & Tg ITh!/ITh Wﬁ‘ﬁimél

(@) qea gfg = IcareT w1 eI -
( Jodg™, HeFAd

Or | 3Ydr
State whether the following equations are correct or wr \
(a) Net factor income from abroad = Foreign incom mestic income

(b) Net value added at market tax = Gross valu
— Indirect taxes
warse o5 Ffafea wefietor &t € =1 7o

(%) faen 4 foa @ @ = faesft s
(@) IR 7@ | fea 7o 3fg = Thd Iod glg — TTH B

cluded in calculation of National
2

er for purchase and sale of second-hand

market price

32. Which of the following sh
Income?

(a) Commission paid to t
goods

sumption

(b) Production
frfafaa & @ I Y Mo H ot fem S =R ?

3 o shI-foasha o feanr R HEE

o IeareH

Or |/ 3FYdr

the blanks with appropriate word(s) :
0 ) Expenditure on intermediate goods included in National Income.

( should be, should not be )

(b) Employing a domestic servant is a part of sector.

( secondary, tertiary )

318/TUS/110A AT
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33.

the blanks with appropriate word(s)/number : 2
0 If 50% of additional income is spent on consumption, MPC equals

e Tl 1 Y g (Ieai) W WNT

(%) AeFEd] gl W =T B TEE AW ° fpar ST =nfew
R - 9

(@) W] AR T & I 3 R

Fill in the blanks with appropriate word :
(a) Under , demand curve of a firm is perfectl&.
(b) Under , sellers are interdependent.

b Tl 1 30y weg ¥ WRT - v

(%) % 3=, ®H T AT G 2l
(@) & 3=qd, fosharst 6 Th- o 2l

an True and False :

nou der all types of markets.

Classify the following st

(a) Product is homoge

(b) Demand cu 1s negatively sloped under all types of markets.

Ted H afieha hINT

%ﬁﬁww%%l
@é A | BH % HIT 93k hl @AM AUTCHS Bl 2

(1,05)
(b) If both income and savings increase by 100%, then APC

( remains constant, changes )

318/TUS/110A 19 IR ce-ro.
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35.

36.

37. Expla

ok Tl 1 IWE veg (VsgT) /HE | wRT

() afe fafs 3@ +1 50% 399 W =7 fham Srar g, @ THo o Hio *
Enciduitl 6

(1, 0
(@) afe 3ma 3R s=a Sl § 100% 1 dfg &, @ Tododo @l
(

Classify the following statements into True or False :

(a) When Y is zero, C is also zero. ‘\

(b) Savings can never be negative.

frafafed el &1 & 3R Toa ¥ affea HIC
(EB)WY(W)QH@?ﬁé,FﬁC(WW

(@) s=ad &l RUMHAS T2 B Hehdl

SEC

Why does an economic pr aam an economy? Explain. 2

sderaer § i wmen 27 FHITET

What happens &f\uctlon possibility curve when there is growth of

resources in omy? Explain.
Tglg 1 IUTEH GWEHT I5h T F1 TS 9Sdl & 7 SHESY

o properties of production possibility curve. 2
# Tl q fowarst & smen Hifu)

Or /| 37Yar
in the problem of ‘what to produce’.

3T P ! THET FHFAET

Under perfect competition, who determines the price of the product and
what is the shape of the demand curve? 2

i sfefiar § g 1 Fma w Fuif@ war @ 3K A 9% H oI @ g B e

318/TUS/110A [TV
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39. When does a situation of excess supply of a commodity arise in the market?
What is its effect on price of a commodity? 2

TR § Th aEg H qfd anfere i fafs wa I gt 87 sue axg i hia W R

BRI
Or |/ 3Ydr
How an equilibrium price of a commodity determined uno
competition?
Tregmse fob qui ufeenfiar 4 v awg i @ Hma A fuifa
40. State any two factors that influence the elasticity of suppl commodity. 2
Th o 1 i Wl o I T B arel HiE a
Or |/ 3FYdr

State any two causes of a rightward shi

TH § SRV gaRy, N T 9w @

curve of a commodity.

Rgmerar 2|

X in a school. In Section A has 20
ars. Section B also has 20 students
ese two Sections are merged into one.
What is the average age ts in the combined Section? 2

Teh TTSITEAT | Tl X TR A 3 B & 9RH A § 20 forneff & 3t 37kt 3iwa
Y 15 &9 B B 20 feoraneff € it SRt 3iwa amg 17 a9 B s oM
I et T feon | U GeeE H foenfR i sia sy i e i)

. Find the , 15, 18,17, 18, 19, 18, 9. 2
12, , 18, 19, 18, 9 1 =gcish WA hifU|
. relationship between total expenditure and price elasticity of
d.

I 3R g F FEd A= & 9 gy 9dE5u|

Or |/ 3FYdr

41. There are two Sections A and
students and their average
and their average age is

State the law of demand and three reasons for its operation.

A w1 Em gdEe 3 sEhl hanfilaar & w5 @9 SRu "qrsu)

318/TUS/110A 21 [NV pr0
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44,

45.

46.

47.

\

What was Barter system of exchange? State any three demerits of the
system. 4

Feg-fafem yomeht @ oft? 39 womet i wiE @9 HisAsal Fasu)

Or /| 37yar

State the difference between quantitative and qualitative method

control. State any two instruments of each of these methods.

rg femr 1 ufmmonars 3t qunenss fafte o st s o= faf

fpu I ATt qr-gqt alieh SaTs

ity.

Explain any four factors that determine supply of
@a@aﬁﬁﬁﬁaﬁﬁmﬁmﬁﬁrﬁww@ i

Or [/ 379ar
A supply curve of a commodity passe the origin. Prepare a supply
schedule of such a commodity

UHl a%q I T qfd g s

Th 9% F (O IgTH-

What is fiscal policy:
TSR fifa A 27

xplain

[ 3 TSRS UM shl Saren shifeu|

y two fiscal measures. 4

In an ec inimum consumption expenditure & 500 crores and
e income in this economy is ¥ 5,000 crores, what will be the
xpenditure? 4

H, RAH 9N S 500 HUS IR Hua s=d-vga 0-2 21 afe 54
¥ ™ ¥ 5,000 HIS &, q U I T EM?

From the following data, calculate Paasche’s index number : 4
frfafaa tfeel @ ave & gk &1 TMUAT HIRT
X pgo =200, Xppgq,=80, Zpgq =192, Zpyq =60

318/TUS/110A AT
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49. Calculate National Income from the following data : 6

(i) Compensation of employees
(ii) Profits

(iii) Rent

(iv) Interest

(v) Dividends

(vi) Mixed income of self-employed

(vii) Net factor income from abroad

(viii) Net indirect taxes

Frafafea stwet @ wia sma &1

(i) wHTET 1 a\

(ii) =

v'

) T-Frfal <6t ffa s

\

318/TUS/110A

9899436384,

(i) T | g e I

(iii) TE FTAE H

\%

?
(in ’00 crore)

S

2,000

400

2,
&\
v

50
3,000
- 80
60

(00 irg H)
2,000

400

75

90

50

3,000

- 80

60

23 IR ce-ro.
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Or /| 37yar

From the following data, calculate Personal Disposable Income

(in crore) a

&

(i) Private income 3,000

(ii) Net factor income from abroad

(ii)) Corporation tax

(iv) Savings of private corporate sector \6
0

(v) Direct taxes paid by household

(vi) Other miscellaneous receipts of the Government
Administrative Departments

ﬁm%%amﬁwﬁmmmmﬁm

¢
(FTS )
() =t s o 3,000
(i) Tagen & fraa @em s - 100
(iii) TTE T 70
(iv) =t frm & it T=a 50
(v) TeEdt g feu MU s 60
(vi) TTHRY = fafay wfet 10
50. Calculate Arithme ean from the following data : 6
I I IHEhe hHINT
Number of Students
e foremmfefei &t @@
20-40 36
40-60 45
60-80 27
80-100 12
* kK
318/TUS/110A [24V—500x3] [N
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